ol %ol!
Lesolukr. ~Bey) L ()
b ] DCE) U1L6\)
D(F’L‘f’fu’) e gl

o p FORCprn) / e o, 1 L R,
N ® -11(&) v R¢x) N

W g

"" {C) = WG) A ¥x g () = h(g) T
R T &

?’:&.A o Adocwaiu o~ !W'{'-(bfi""‘“afﬂ“‘ il sauleac, \/H_. ‘{""H(__.

|V q.} {c‘,‘,}) s« 9 n: wlfnféw\

Vv 2flex) - e F- fort

Vorqir o G g 3] 7 4Ce) s
!r(v} 4 (1 ¥Cx

L Peao€rell  RELACD

Vbt ABC TO)~%  T(F)=D T/y) =4
Countank+ Xifi () § <Ay <8 <o) ¢
todsba: tiqr T (p)= fast 7 (4)¥c]
Lmo‘t&a { T("?"( <& By, g€ B >3

L) 3w Me).w V7
V(!(){)IYJ ? 'da)_e(c),

é g
“J i \ ‘e ¢ ) ¥ a, vbgj - Y y(“lw) 25
{(6)'6 R N -5 Va2 w)

r (¢ B) bom e e ﬁam‘@ TARTOM

= S



